                                                ASSIGNMENT 6
CLASS:-4TH                                         CHAPTER - 7                                  SUBJECT:- MATHS
    1Q.TRUE /FALSE 
a) Remainder is always smaller than divisor.
b) 6000÷60= 100
c) 267÷267=0
d) Dividend =Divisor ×Quotient +Remainder
e) If   0  is divided by any number, the quotient  is always is 1.
f) Remainder is always smaller than divisor.
2Q.Divide  and check the answer 
a) 3654÷9             b)8925÷8          c)9972÷14         d) 34431÷33
   4Q.I have to pack 245 Kg wheat in 5 bags.How much wheat is to be packed in each bag?
   5Q.Blanks 
a) 869÷1=______               b)2145÷2145=_____         c)  _____÷1=563
   6Q.Simplify 
a) 25÷5 +5×2 -11
b) 360÷9×2 -3 of  7+21
 5Q.  In a sum , the quotient=  202 ,  the divisor = 267  , and remainder=34. Find the dividend.
6Q.Find the smallest 5 digit number  that  is divisible by 219.
7Q. The product of two numbers is 2048. If one  number is 4, find the other number.
8Q.Riya’s father bought 15 packets of toffees. Each packet had  75 toffees. Riya distributed the toffees equally among  30 friends on her birthday. How man toffees did each get?

